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Part A and B of each question is compulsory, attempt any one from Part C (Short answer type) and D 

(Long answer type) of each question. Part (a) and (b) carry 1 Marks each, (c) carry 3 marks and (d) 

carries 5 Marks.  

Q1.       (a) वास्तववक रॊफाई स ेक्मा तात्ऩमय है|| 
        What is meant by Proper Length. 

 (b) आऩेऺीम गतत के लरए वेगों के मोग के लरए सॊफॊध लरखिए।  
 Give relationship for velocity addition in case of relativistic motion. 

 (c)आइन्सटाइन के द्रव्मभान ऊर्ाय तलु्मता सॊफॊध  को स्थावऩत कीजर्ए | 

 Derive expression for energy mass equivalence.    

OR 

सभम ववस्ताय के लरए व्मॊर्क तनगलभत करयए तथा इसे सभझाइए | 

Derive an expression for time dilation and explain its meaning 

(d)भाइकरसन भोरे के प्रमोग का सचित्र वर्यन कीजर्ए तथा इस प्रमोग के ऋर्ात्भक ऩरयर्ाभों की वववेिना कीजर्ए।   
Explain Michelson Morley Experiment with a well labelled diagram and explain its negative result. 

 OR 

आइन्सटाइन की आऩेक्षऺता के ववलिष्ट लसदधाॊत के भरू अलबग्रहीत लरखिए तथा इनकी सहामता से एकसभान आऩेक्षऺक वेग 

से गततभान तनदेि फ़े्रभों के लरए रोयेंटर् रूऩाॊतयर् तनगलभत कीजर्ए | 

Write postulates of special theory of relativity and derive Lorentz transformation for frames moving with constant 

relativistic velocity with reference to each other. 

 

Q2 (a)द्रव्म तयॊगें क्मा हैं ?इससे सफदध तयॊग का तयॊगदैधमय  

  Define matter waves. Give an expression for its wavelength. 

 (b)हाईर्नफगय के अतनजचितता लसदधाॊत लरखिए | 

Give Heisenberg Uncertainty principle. 

(c)तयॊग वेग एवॊ सभूह वेग की ऩरयबाषा एवॊ सूत्र दीजर्ए| लसदध कीजर्ए की अनाऩेऺीम कर्ों से सफदध तयॊग ऩैकट का सभूह 

वेग vg, कर् के वेग v के सभान ही होता है | 

Define wave velocity and group velocity of a wave packet and give its formula. Also show that group velocity (vg) 

of a wave packet associated with a relativistic particle is equal to the particle velocity. 

OR 

2eV ऊर्ाय वारे नूट्रान से सफदध डी-ब्रोगरी तयॊगदैधमय की गर्ना कीजर्ए | नूट्रान का द्रव्मभान 1.67x10-27 Kg 

Calculate De-Broglie wavelength of a neutron having energy 2 eV. Mass  of neutron is 1.67x10-27 Kg 

2eV  

(d)डवेसन तथा र्यभय के प्रमोग को सभझाइए | इसका उददेचम क्मा था औय ककस तयह इसके प्रमोचगक  भान सैदधाॊततक 

भानों से भेर िाते हैं  
Explain Davison and Germer’s Experiment. Show how the experimental values matched with theoretical values. 

OR 

कॉम्ऩटन प्रबाव क्मा है? प्रकीखर्यत पोटान के तयॊगदैध्र्यम् के लरए व्मॊर्क व्मुत्ऩन्न कीजर्ए|  

What is Compton effect? Derive an expression for wavelength of scattered Photon. 

 

Q3 (a)श्रोडडन्र्य का सभम तनबयय तथा सभम भुक्त तयॊग सभीकयर् लरखिए| 

 Write Schrodinger’s time dependent and independent wave equation. 

 (b)तयॊगपरन के प्रसभान्मीकयर् की ितय लरखिए | 

What is the condition for normalization of a wave function. 

 (c)िून्म बफन्द ुऊर्ाय स ेक्मा अलबप्राम है? इसकी क्मा वविेषता है ? 

What is meant by Zero Point energy? Explain its importance. 

OR 

अनॊत उिाई तथा 1Ao िौड़ाई वारे एकववभीम फॉक्स भे गततभान एक इरेक्ट्रान की न्मूनतभ ऊर्ाय ऻात कीजर्ए| 

Calculate minimum energy of an electron enclosed in a one dimensional box of infinite height and width of 1Ao 

 (d)श्रोडडन्र्य तयॊग सभीकयर् की सहामता से एकववभीम  फाक्स भें फॊद कर् कक ऊर्ाय के आइगन भान एवॊ आइगन परन के 

लरए व्मॊर्क प्राप्त कयें | 
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Derive Eigen values and Eigen functions for energies of a particle enclosed in a one dimensional box, with the 

help of Schrodinger’s wave equation.  

 OR 

श्रोडडन्र्य तयॊग सभीकयर् की सहामता स ेववबव प्रािीय से कर् के ऩयावतयन तथा ऩायगभन के लरए व्मॊर्क व्मुत्ऩन्न कीजर्ए 

एवॊ प्राप्त ऩरयर्ाभ को सभझाइए  | 

Use Schrodinger’s wave equation to derive expressions for reflection and transmission of particles through a 

potential barrier and explain its results. 

Q4 (a)इरेक्ट्रान स ेसम्फदध क्वानटभ सॊिमाएॊ क्मा हैं | 
 What are the quantum numbers associated with an electron. 

 (b)घूर्यन वर्यक्रभ के सॊक्रभर् तनमभ लरखिए | 

 Mention the transition rules for pure rotational spectrum 

 (c)दवव-इरेक्ट्रान तनकाम के लरए l1=3 औय l2=2 हो तो ऻात कीजर्ए :  

(i)सम्ऩूर्य कऺीम कोर्ीम सॊवेग क्वानभ सॊख्मा L,  

(ii) सम्ऩूर्य जस्ऩन कोर्ीम सॊवेग क्वाॊटभ सॊख्मा S  

(iii) L-S मुग्भन भ ेसम्ऩूर्य कोर्ीम सॊवेग क्वाॊटभ सॊख्मा J.  

For a di-electron system, calculate: 

(i) total orbital angular momentum L 

(ii) total spin angular momentum S 

(iii) total angular momentum J using L-S Coupling 

OR 

HCl अरु् की तीव्र अविोषर् येिा की तयॊगदैधमय 3.456 भाइक्रान है| मदद उक्त येिा का भूरबफॊद ुकॅम्ऩतनक ऊर्ाय स्तय भें है 

तफ HCl अरु् का फर तनमताॊक ऻात कयो | 
HCl has sharpest absorption line of wavelength 3.456 micron.  

(d)What is Raman Effect? Explain the experimental setup used for its study. 

यभन प्रबाव क्मा है? इसके अदधमन हेतु प्रामोचगक व्मवस्था का वर्यन कीजर्ए | 

OR 

Describe the fine structure of Hα spectral lines using Vector Atom Model. 

वेक्टय ऩयभारु् भॉडर के आधाय ऩय Hα स्ऩेक्ट्रभी येिाओॊ की सूक्ष्भ सॊयिना की व्माख्मा कीजर्ए | 

 

Q5 (a)अल्पा कर् ककसे कहते हैं ? 

What are alpha particles? 

(b)द्रव्मभान ऺतत के लरए व्मॊर्क लरखिए , 

 Give expression for mass defect. 

(c )मदद द्रव्ममभान सॊख्मा A=235 का नालबक दो नालबकों भें टूटता है जर्नकी द्रव्मभान सॊख्माओॊ भें अनुऩात 1:2 है तो इन 

नए नालबकों की बत्रज्मा ऻात कजर्मे | 

If a nucleus of mass no A=235 breaks into two nuclei whose mass numbers are in ratio 1:2, then find radius of 

these nuclei. 

  OR 

n=3, l=3 ऊर्ाय अवस्था भें अचधकतभ न्मूजक्रमानों की सॊख्मा ऻात कीजर्ए | 

Find total number of nucleons in the energy state n=3, l=3. 

(d)गाइगय भूरय गर्क की सॊयिना, लसदधाॊत एवॊ कामय प्रर्ारी को सभझाइए | 

 Explain Construction, Principle and working of Gieger Muller counter. 

 OR 

नालबक के द्रव फूॉद  भॉडर के प्रभुि तथ्म लरखिए | इस भॉडर की सपरताएॉ तथा असपरताओॊ की व्माख्मा कीजर्ए| 

Give main points of  Liquid Drop Model. What are the success and failure of this model? 
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